‘ : \ALI YAVER JUNG
R A S | centre of A
L Em @ T 3"11. 3l b @ reg-:-olrgNAL [NSTITUTION for the
grao| At o TG Hw, M i ed, Mumbal” :
3 Hearing HandicaPP=ss
el &% T E (A) olkata
(B) UG ~(C) New Delhi
Y hwar
(D) IETER pg | 2. Amongthe following W
5. Frefefaa # J I T R special achievement test -
qQET e (A) Diagnostic test
(A) T e (B) Analogy test
(8) g T | (c) Skilltest
(C) owm TAETT t
@)/ Language tes
(D) 87T T backward in
. . S B WA JED 3. Some students are
3. e A el g 90 studies. ‘What will be. your attitude
R & B towards them? :
(A) oW (A) Harsh
(B) ?{gﬂ;'ljﬁ-rqﬂf (8) Sympathetic 7
(C) 3R (C) Uuberal
{ (p) ol (Mvable: f the
4. @@ & @fea & dedae BER $ B 4, For harmonious development O
o - Z:;i:)dn?'lltv of the child, Parents
(A) eI JREM FaTT a - (A) Overprotect the child
(B) @@ @} 3= aeq) & wr Frafia w9 |\ (B) Regularly compare the child with
& qo B / other children
P (Mide appropriate
i 3IdcT dTaraRoT
() &y _ BEAIED Sl environment at home
(D) m & Y T G (D) Engage with qualified teachers
5. [EffEa § 9 o-wr 9 & wfaa 5.  Which of the following is a Teacher-
D aIeT RS fA1eis ¥ wafen 27 related factor affecting learning?
(A) do7 3} 3fera arawn (A) Proper seating arrangement
(8) Rrevr-sifnm et & sqwEr (B) Availability of teaching-learnin
resources
(C) UeamR @t ol 3meEr das & c
(C) ure of the content or leami
¥4 experience
(D) fva-wmt 4 wRT afe - (D) Mastery over the subj

matter
: P
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6. WrTd @feheg ufomw @ -
(A) -t stk fren &
() smafime sk wafewr & di
=i &
(C) &aa vafmm @
(D) &aw safirar o
7. srraﬁas%‘:ﬁra%ﬁmm?fﬁﬁﬁmé?
(A) ud acamamn 3
(B) hvmmawy 3

(C) i

6'

~

10,

4 ]

APP-1

Human personality is the result of-
(A) Upbringing and Education
(B) Anteraction between Heredity and ’

Environment
(C) Only Environment

(D) Only Heredity
In which stage is the physical growth
rapid?
Early childhood
( Infancy
(C Adolescence?‘
(D) School age
According to Kohlberg, a teacher can
instill moral values in children by -

(A) aiving importance to religious
teachings

(B) laying clear rules of behaviour

(‘C)A:oluing them in discussions on
moral issues

(D) giving strict Instructions on "How
to behave*

Piaget's principle is related to Child's-

(A) Psychological Development

(B) Emotional Feelings

EC)/ Cognitive Deveiopment

(D) Physical Development

Among the fallowing, which aspect is

not  related with physical

development?

(A) Nervous System

(B) Endocrine Glands

(C) _Body Structure

DY Perception

The main steps of Evaluation

Process are :

(A) Educational Objectives

(B) Learning Experiences
(C) Behavioural Change

‘(9/AII of the above
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13, ﬁuﬁﬁ;wwﬁﬁﬂﬁ?twm

en e
(€) ﬁa-ﬂ%mé’tn-’sﬁ]&n
(D) e g & Fe
15, 'mﬂmﬁsﬁmﬁ!&n“a’%ﬁmﬂm

P L

APP -}
12. What are the main successive step
s af

Motivational Cycle?
(B) Drive

/ (A) Need
chntive (D) Al the abave
13. aget's first stage of cognitive

development Is concerned with the
conquest”on -
( Object
\ (B) Reasoning

(C) Symbol
(D) Allthe above

14, Which of the following is not 3 source
of Informal Education?

(A) Education given by parents

Mcation through classroom
teaching

(C) Education by peer groups
(D) Education given by neighbours
15, Concept of "Education for Equality” Was

highlighted by -
(A) RadhakrishnanCommisslun

(B) raudaliar Cammission
(C) Kothan Commission
(v National Education policy - 19BE

ie. 1f \earners individu

differences, the teacher should-
(A rovide 3 variety of \earn
expeﬁer\c.es

() enforce strict discipline
(©) increase number of tests
(D) insist on uniform pact

learning
The concept Of intelligence Q
(1.Q.) was at first used by -

(A) Skjaner (8) Term

( Binet (cc)pz
18. "Theory of Expenmen fal Lean
given by - -
( ri Rogers (-
(B) Piagel
(© Sigmund Freud
(D) Skinner
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SET-B

20, ¥

21,

(A)
(B)

IRy
(C) %atFﬁrr—rmaﬁrrrquﬁﬁa%
() mé?ﬁﬁ?’faﬂéqﬁ
gﬁhmﬁmﬁﬁﬂmwiwmmm

fy

G|

(D) T8 T & R Sray

19.

20.

21.

22.

23‘

24,

APP-1

Quality of School Education

depends heavily on -

(A) Infrastructural facilities

(B) Financial provisions

(C) International support

(“Q/Quality of Teacher Education
ccording to Gagne the highest level

of learning condition js -

(A) Principle learning condition

(B) Problem solving learning
condition

(C) Bignal learning condition
D)/ﬁone of the above

"Motivation js the Super highway to
learning"” this statement js given by-

( omson

mw

(C) Skinner T\

(D) Bemard
Parents should -

(A)  monitor children's work
(B) arra Nge for Tutions

(C) eriodically discuss the Progress
of their chilg

(D) not interfere in School
activitieg

Ability to Féverse" is not the quality of

Which state

(A) Sensory motor stage

B Pre-oparational stage

(C) Concrete Operational stage
(D) Formal Operational stage

Which of the following options is not

included by Education Commission in it
Suggestions for Pillars of

Education, given by UNESCO ip

Education for 21st Century™?
%\)/i?a}m to eamn
(B) Learn to know

(C) Leamn to live together
(D) Leamnto do SOmething
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(©) = fame TE &
27. ‘ﬁnﬁﬁﬂﬂﬁ%aﬁ?mmaﬁﬂﬁ?

(A) qﬁvﬂﬁmaﬁmm%i
(8) qﬂfzé‘mmﬁmm%?ﬁ%l
(@) qﬁ;ﬁmawm%\

() ﬁmﬁﬁtaﬂﬁﬁnﬁﬁm%l
28. ﬁmmmﬁmmn@tﬁ
g o PrarT & atm T 8

(a) T 4=

APP -y

motivation

25. Level of
depends on -
(A) high salaries
(B) officer like status

() p fessional training
(‘D)A)Ommitment towards puplls and
profession

26. Which of the following environmental
factors affects the personality?
(A) Soclal factors

) (B) Cultural factors
(C) Emotional factors

c%/ﬁl options are right
27. hich of the following statement IS not

correct?
(A) Growth and Development are two
different aspects
Growth continues throughout life
\ © Growth is one of the parts of
development
(D) Developmentis 2 continuaus process
28. Identify the rype of Intelligence which
js not related to Gardener's Theory of
Multiple Intelligence :
A luid Intelligence
\ (B) Spatial.lntelligenqe
(C) Llnguis‘tlclr\temggncg
(D) Musical intelligence
29. ldentify the person to whom most

teacher

historians trace the propounder of
Special Education:
C1 (A) Jean Marc Gaspard Itard

(B) Edw Seguin
- (M::"ontessur\
(D) None of the above
30. In which year, the UN Conventior

the Rights of Persons \
Disabilities was held ?

\ (A) 13 December 2004

(B) 13 December 2005
(C)13 December 2006
(D) 13 December 2007
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APP -

31. Read the sentence and choose the

correct alternative.
'The secretary and treasurer is

absent’ -
(A) One person is having the

the secretary and treasurer

\%ne person is having the post of
the secretary and the other

is having the post of

post of

person
treasurer
(C) No Person holds any post
(D) Allare correct
32. We said to them, "who has
misguided you?" Choose the correct
alternative out of the following.

(A) We sald to them who
misguided them

y‘)e asked them who had
misguided them.

(C) We told them by.whom they had
been misguided.

(D) We asked them If they had
misguided them.

If I had a degree, I could get a job

easily. Conditional of this type says-

(A) something did not happen
pecause a certain condition was

33.

not fulfilled.
W something will happen if a
certaln condition is fulfilled.
(C) that the condition will be

fulfilled.

Direction (Q. No. 34 t0 37) : Ry
the instructions given below ang
answer the questions that follow by
selecting the most appropriate option
out of the four alternatives available,

on his first day In office, as
Abraham Lincolon

President

entered to give his inaugural

address, one man stood up. He was a
"Mr, Lincolon,

rich aristocrat. He sald,
you should not forget that your father
used to make shoes for my family". And
the whole Senate laughed; they

thought they had made @ fool of

Lincolon. But certain people are made

of a totally different mettle. Lincolon
looked at the man directly in the eye

"Sir, I know that my father

and said,
and

used to make shoes for your family,
there will be many others here, because

he made shoes the way nobody else
e was a creator. His shibes were

can. H
his whole

not just shoes; he poured
soul into them, I wantto ask you, have

you any complaint? Because 1 know how

to make shoes myself. 1f you have any

complaint I can make you another pair
of shoes. But as far as 1 know,
nobody has ever complained about m»
father's shoes. He was a genius, a grez
creator and I am proud of my fathe:
The whole Senate was struck dum
They could not understand what ki

of man Abraham Lincolon was. He\

A

Ir
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36.

had ever been heard.

The word from the passage which
means -

‘quality of determination to do
Something successfully' s -
(A) Genius
(B) Mettle
{\CVCreator
(D) Complaint
35. A rich aristocrat talked of Lincolon's
father to make him fegl-
(A) VEry proud
(B) very glad
C)~ much ashamed
D) frightened

ording to him-
(A) he made very fine shoes
(B) his shoes lasted long

(C) he put life Into his shoes
Me Never had any complaint
against his shoes

37. Lincolon showed that he was -
@)/aopmud man

(B) an unusual man
(C) an obedient son
(D) ashameless son

Direction (Q. No. 38 to 41): Read the

poem carefully and select the most

APP-1
Do they, as I pass overhead
Stop in their work to bear me tread?
Some creatures sieep and do not toil
Secure and warm beneath the soil
Sometimes a fork or spade intrudes
Upon their earthly solitudes,
Downward the branching tree roots

spread
Into the country of the dead.

Deep down, the buried rocks and
stones

Are like the earth's gigantic bones.

In the dark kingdom underground

How many marvellous things are

found.
38. The kingdom Underground B
(A) Noisy
(B) active
(©) lazy
DY none of the above
39. Thereis underground.

(Mo light and little sound
(B) Light and sound
(€) nolight

(D) only light and no sound
appropriate option from the alternatives
given.

40. Man often disturbs the underground

In the deep kingdom underground world with :

There is no light and little sound
Down below the earth's greenfloor

(B) onlyimplements
The rabbit and the mole explore.

The quarrying ants run to and fro .ici 0
To make their populous empires ¢ |

(A) implements and tools
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41. Deepdown, the buried rocks and
stones

Are like the earth's gigantic DONES:
The figure of speech is used in the
above mentioned lines :

(A) Metaphor

(B) Personification

(C) Hyperbole

(D) Simile

42. The statement ‘Language IS culture-

preserving and culture-transmltting' Is-

(A) false statement
(8) partially false statement
(C) true statement
(D) Aartially true statement
43, A school or class to prepare

children aged five is called -
{ gature

{(B) Kindergarten
(CJ) Kelptomaria
(D) Pnmary school
44. A child speaks In the beginning -

(A) consonant sounds
(B)~dipthongs
(C) tripthongs
(D) vowel sounds
45. Which of the pronunciation drills is the
forming

excellent means of

;;myﬂeech?
( sound

1 () intonation
(C) habits
(D) skills

e [13]

Ap p - l
46. A child Is composing a poem with the
help of a picture drawn on the black-

board. The child Is using -

(A) understanding based skill

(B) knowledge based skill

(C) ychomotor skill

(Y application based skill

ere are four teachers in 2 Primary

Schoel. One of the teachers Is on

Government duty, One Is on leave due

to sickness, the third one has been on

medical leave. There are five classes

consisting 79 students. Which device

will the teacher apply in this situation

to handle the students?

(A) The teacher will provide home
work to the students

(B) The teacher will make the
students play throughout the day

(C) The teacher will instruct the
students to do self study

(D) e teacher will apply the multi-
grade-teacihing device

a48. Rearrange the following words and

phrases to form a meaningful
sentence. Choose the correclt

alternative sentence -
of |and| clouds | information | weather

| send | satellites | and plctures \

storms
(A) Information and pictures send

weather, clouds and storms

satellites.
(B) pictures, storms and clouds

information send weather.

(C) Satellites information send
weather, pictures, storms and
clopas.

(D atellites send information and
pictures of weather, clouds and
storms.

4?.

P.T.0.
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APP-1

'A person who believes that God is

'arT 3

: . 55.
e everything and everything is God' Is
(A) normative i
eda:; :
(B) ective & k '
(A) agnostic
formative
()~ theist
(D) cognitive (C) pantheist
50. "Poetry is a statement whose soul is (D) pagan
rasa”. This definition has been given by- 56. 'Aman who eats human beings' is called- !
(A) Mathew Arnold (A) criminal "
(B) Panditraj Jagannath (B) men-eater f
(C)” Acharya Vishwanath (C) beast !
(D) S.T. Coleridge (D) nnibal
51.  The word 'agriculturalist' has - 57. Tofook down upon is meant for -
(A) Five syllables (A) to look front
(B) Foursyallables (B) to look down
(C) _Seven syllables {Q_)/é treat with contempt
( Six syllables (D) to look at
52. The statement ‘Stress is the Intensity B Ir:':l s ::|I°W|ng W bl
orp Inence given t. : Sspelt. Choose the wrongly spent
uﬁm , given to a syllable’ |s - word.
true (A) procession
(B) untrue (B) performance
(C) partially true (C) allied
(D) none of the above ([‘J)/élsr.e _
33.  Phonologically the number of semivowels > I order to get Success, tie Hoss has r
in N0 left no stone unturned: can be replaced '
glish is - bk
A 1 with the words or phrase-
( (A) went to the mountains
(8) 2 \B)Aried every possible course of
(C) action
5 (C) went to the sea shore
54. "Amorpheme is the smallest unit of form (D) did not try anything
that has meaning in a given language® 60. Choose one of the correct alternatives
ol in the following underiined words.
. The more they get, the more they want.
x i Py a NN i e e 1 .
(B) p ly Ct ct st 5

M 3 -

RY e v —
1B Dr s 1 8

-
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WW@J APP-|
e — | 66. ) T YR T T T g N \
61. wm pirl g i
t\/ﬁnﬁm (©) (0) 3t
B -
- 67. WmﬁT&TWﬁﬁmqﬁ%
i?) W (A) quﬂ’rEﬂa':T?I'Ff
GlEl
e a5 s R @ t@)/‘é‘”““ifﬁT S
52 ©) .,ﬁﬁm;a;a‘tawa‘mﬁmsrﬁ;ﬁﬂ
: & FwEs @ anad AT
(:} a s Pram & Reard € (D) T 2 o o & W B
i & T W o e & o IE I /ﬁﬁ
& 3} g2z & el A °
y 7 (D) =it
ﬁmmamm@%m (©) =@ | ot
& ' 0. Frefeaa # B T
2l .
s o eI, G T &
< mﬁjaﬁmﬁ%?l (a) favma (B) ¥IHE
(c (0) 3vE
63. o Ferr @ smee Ry A e o m@mﬁﬁamﬁmm%-
& (A< (B) Y
(A) m:;wmﬂm < Bz (©) | Pea
(8) TR AT 71-3@_%“3&*_
(c) e Fram @ Fedmon @ e
B o e O T
i oz o i o+ ) 0. @ W T aETE G S wel I
a@dr .
L ? (a) PR (8) gt
(8) aufaren @ RS Bl T .
. t o e (C) WEgoH (D) YI=A
% Wﬂjﬁm 73. ‘3§ wemE Tra R ol O WO g
(p) foft :
(A) FhEE=A ud
65. Frafufaa # & #-w1 9= difis’ &? i
(A) TUDHD (B) TN @ e =
C) #Eqar ‘D)/ﬁqtm‘a'[ ‘
- | (D) I R e
SET-B 151
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74. WRa @ v B TR0 Bl @
(A) 3 FvE
& e srar
(C) R e akoy
(D) arEIT
m:ﬁnﬁﬁmqu@mmﬂm
W 75 X 78 aw) & wite I R
am fdwe & aom S
"3 g Y e e el R 2 s
mm%n%haﬁu‘rwnésg‘rﬁgmﬁ
Tl 3 31 @l @ sme, s )
Hﬁmmf.mﬁﬁ?%?nfﬁmiﬂ
& oTET. e ik a=nfiE @ TR
f»’ra‘ﬁﬂ‘aﬂﬁbma"lm#%ﬂgrs‘m
I qufr 3 &), A 3w IS aga
maﬁﬂrm%mEMfﬁim
& T & SIS T T ge—
AP SR s @ R v s @ ok
aR-eR RICILRS e e e
étm%iaﬁasamﬁqmﬁsﬂ?@és
PRI TR T IgA el B &1 Ty
T @ wad @ 2, R wa ok
ferger B S @ 3R W @ awd §
@ gldl 8 g@ @ am @ Re s
%@?ﬁmﬁagamwmgsmm
FARI QBT aRar & AR wheEr s
EEECE]
75, mmﬁmﬁmmﬁﬁﬂw
W 3miea &2
(A) g 3R sooq

(B) =Taar

(Wsﬂrﬁm

(D) e 3ifk im
SET-B

[16]

76.

77.

78.

79.

80.

B81.

APP-1

qaﬁﬂquﬁéiﬁfm#&mﬁﬁﬁ?

(A) & rd dead

(B) T vd vvad

(C) vd HEadr

(D) w2 rd wfawar

gUTl 3R 31T & A0 X Te ¥ o @y

3= B @7

(A) sifas anmereE

() Rmf wawmmer

(C) AR T

(), s 1 3 g 7

3¢ 1 A @ g wf o @

(A) o713 e & ofy

(B) w3 5= & =fy

(Q) w7 oy

D GR:C R Ol

%ﬂ.W'Wﬁimrg?
e dra=

(B) WWW

(C) " Wl ea=

(D) BT WipaEs

& feva A e 2

(A) W w7 fofiaa 2 &)

(B) T I WA B B
I SRS 8

(D) Wmmﬁ;

TR T TR Igm B

(A) w ==

® ¥ =

(C) 3= ===

(D) 3= &=
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B2, RN A Forvomfiam wen wfeamaet @ o=
Fraftiea ¥ J 5 wma & @
(A) 3ath
ngﬁimm
(C) geeh
(D) reTgd
e & § W e -
(A) 3T
(B)y” 3%
) ©
(D) ©
g4, Fyan § 3 @ g T 2
(A) S @ T
(B) 3T, T
(€) TG
(D) ¥ & o e
85. r@ﬂﬂ?ﬁ"ﬁé’"aﬁ'wwﬂﬁm‘
art afra? e, @@ SRy @l
Wﬁﬁmﬁﬁqmwg?
(A) JuHl
(8) TP
(c) T
(D
g6, afii® B PV
3
(A) 31-31
(B) 30-30
(C) 2424

83.

% e a0 ¥ @t e

APP -

frfer : Prefefaa T & o g ma ge
(W= |G 87 | 90 TF) & wwaiftrs i
TR am faaen @ @@ A
B ¥ aren 7o 37 fe =l € &
wﬁﬁ%ﬂﬂéﬁﬁ&h?ﬁﬁ?.ﬁ%ﬁ
Eﬁﬁag[ﬁga,-ﬁraamaﬂﬂqaﬂﬂﬁﬁﬁ
mglmﬁﬁ;{?ﬁfﬁﬁm?.ﬁ"lﬁ
i & an @ & e 3o g @
mm@mwmqﬁﬁmﬁl
e i e e &, 3 € 0 E
30 g g g g &, 7 7 3
i ot ot & T 2

- mﬂﬁmﬂ?ﬂﬁm%ﬂg?
(A) 3 R @ Bl
Mqﬁmaﬂﬂ#I
() ek A< B
(D) s 4 @y 2

o5, s T  fiw am & wE W A
ar ép

N

(B) FprT

(c) shad

(D) wWra

g9, ‘e @ A &

(A) e P

(B)

(C) Sﬁ’[ﬂqﬂm

s o g g g & A A

o

" [17]
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Mathematics

APP -]

o1, Frm A A T, whwH # oW fnew )

UH W@ TR 87
(A) e e & Reo Gt

(B) Tt ITHIO B WA B DY AT
(C) e HawH B vl
() P Tl & =

o2, TivW & wREh sen-we § gie aftm
e & anawamal @ e B
¥ T e @ Aifa e
Ay e @ frde Riers & or St
(@) 35 T s srene- st s
e gl @ FHST B
(C) T & aEe I g fawa & &
(D) W ¥ 3@ 3w w B A B
T 37D 18 @ &l
93, g s & 9 § v agd WA e
3 R &, Y 6x+2=8x | T WBR B
3ic & Fed & -
(A) B
(B) WHHITRS i

(C) Haorra® e

91. Which of the following is the major

problem of teaching Mathematics?

Vﬁ:hlng methods of
Mathematics teacher

(B) Ability to use Mathematical tools.

(C) Class Room operations

(D) Knowledge of teaching

methods

92. Inaninclusive Mathematics classroom,
what would be your strategy for
addressing the needs of visually

challenged learners?

(A) send the learners to special

(C)
of Mathematics

(D)
mathematics

as -

(A) Clerical error
(B) Pfocedural error
(C) Conceptual error

1 -H“ _!'-.

alternate teaching

educator
(B) esign
learning and assessment methods

Offer them another subject in lieu

Pair them with high scorérs in

93. A very common error observed in
addition of linear expression as
6x+2=8x; this type of error is termed

P.TA
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94, T TSRS QR e e afereim 94. Multiplicative inverse of a negative
3 rational number Is-
(A) b eEern afiia e (A),~a positive rational number
(B) @ Womers iy e (B) anegative rational number
(C) o () 0
(D) (D) 1
95, well % o I A W A fo 2 T 95. One frult salad recipe requires ‘::— cup
i -
:::ﬂ i .:n'ﬂ'ﬂmmr & ot b g T n of sugar. Another recipe for the same
- 3= i
<1 IR ¥ fre, o g T G o) fruit salad requires 2 tablespoons of sugar.
IR T8 B i 1
& a1 ag qam e T If 1 tablespoon is equivalent to Ilscup,
Y
I W aeelt A R e how much more sugar does the first
=it af) dravasar gy recipe require?
A 1
f\%’m {M/{cup
5
B) = 5
(B) 16 ™ (B) 1g cuP
(€) = au 2
8 (€ g e
r 7
(D) 16 o (D) 16 cup
9. 33 9,8,4,3,21,6,4,8, 10, 12, 96. The range of the data 9, 8, 4, 3, 2, 1,
15,4, 31 qRwR & - 6,4,8,10,12,15,4,3is-
(A) 15 (A) 15
(B) 14 (B)14 '
& X
(€ 12 (C) 12 y et
WA J‘:_l i€
AL N
(D) 10 () 10 q ,%
. & ‘L
SET-B @) Y
}‘A = 2 \{# *

- ak '?" -;'\;'* y$ 10‘\.‘_\‘
1‘1") “SE ﬁ\_/" o ¥

A R SR e T
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(A) Zz e

(a) A BC
, (8) B, C. A
5 () C.AB
(0) =aRem T fd o wadl £

97.

98.

99.

APP-i
A graph that displays dat@ that changes

continuously over periods of ume1s -

(A) bar graph
(B) pie chart
Q) istogram

nAne graph
The human body has about 100 billion
cells. This number can be written In
exponential formas -

(A) 10°

) 1011

(D) 1012
Ramesh has three containers as pelow-

(a) Cyilndrlca! container A having
radius r and height

(b) Cyllndrical container B nhaving
h
radius 2r and height 3 -
(c) Cuboidal container C having
dimensions ©% 1 h
The arrangement of the containers in

the increasing order of their volumes

is -

(A) A BC
(8) B,C A
(C) C,A B

(Wot be arranged
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100. 3 B 06 FHR | g MER § qeeH
R, T HIGR HN I -

(A) G &

(B) wT aimam &
(C) @@ wEmrd

(D) T & s &

101, ﬁw%ﬁﬂ.‘rcp-:qcr(sm P/ g, r, s QUTfes
g Py B T vrer &7

P+q P+s
(A) r+s (B) q+r
4+ r+
(o (D) -5:%
102. e R 4 a sk b &
¢
o m
b

(A) UDTR T BT
(B) W T
(C) UHIaR I
(D) JER TH[@ BT
103. o& f & sl & evarsat (f.H)

10, 6.5 7 a €, 56T a U6 i Wi & a
@ g A & W & -
(A) 3 () 5

APP-1

100. During conversion of a solid from one
shape to another, the volume of the
new shape will -

(A) Increase

(B) decrease

Mmaln unaltered

(D) bedoubled
101. Given that 0<p<q<r<sandp, q,r, s are '

integers, which of the following Is the

smallest?
+q p+s
Wl e
S r-

(A) alternate exterior angles

Wpondmg angles

(C) alternate interior angles
(D) vertically opposite angles
103. The sides of a triangle have lengths
(in em) 10, 6.5 and a, where a is a
whole number. The minimum value that
a can have Is-
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-y), then
104, If 15% of (x+Y) = 259% of (x-Y
! 104. T (x+Y) T 15%=(x-y) @ 25% 2, Ay

"
fyis equal to X ¢
l\ 1 fopaen s x & TR gme? what percent of ¥
. A) /o
\ (A) 10% (
50% (8) 50%
‘1 i (C) 200%
|
1 (C) 200% e’
\ (D) 400% [
does
‘\ e 6/7 3t ot 105. By how much o8> 718
5, @& 5g
| 10 7/8 "
| 27 L2
3
| = w 63
' *» 03
3
l' 3 (B 63
® 63 |
- © 73
(€ 43 5
5 y’,’ E
| . ;;- re in the ratio
| ,Fﬂg 2t 1. 31 *F 106. Ifthe sides of a triangle a
ﬁ' e ] z
- 4 3: 1% : 3-;- ,then the triangle is - = —-';1"
g A & o g & - ¢
Prygsr . ljt{ E'“’ (A) Right-angled triangle 5C -:.
(A) BT -?, ' ' .
y | &
btyse-angled triangle :!
() it Bt [\ . (ye ang L
i Ue
3 i (C) Acute-angled triangle il
(C) =g ST o ;
L
(D) Isosceles triangle ( >
e : %
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107. 7k ABCD s wita T @ Fore
ZA=4ax", /B=7x9, £C = 5y°

T D=y A, Fx:yenm-
(A) 3:4 (B) 4:3

© 5:4 (D) 4:5

108. fﬁaﬁﬁﬂnﬁmaﬂmg_

m%lm&smmﬁaq&mmﬁﬁ
o T g -
b

(A =

b .
(B) S—a-ué

5b ..
© S

APP-1
107. IfABCD be a cyclic quadrilateral in which
LA=4x", £B=7x", £C=5y°
and 4D =y°, thenx :yis -

(A) 3:4 (B) 4:3

M:S

108. The name of the given solid In

/

(A) triangular Pyramid
j (B) ngularpyramid
‘ }{’:ecc:ngular prism

(D angular prism

(C) 5:4

109. A man walks ‘a' km.in''p' hours. The

time taken by him to walk 200 metres
Is -

- o S
Q’ " al

H

LA
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|

gl (2443) a=(2-43)b=1 B,
|

l 1.1 .

.\ ?ha+baﬂtrr={m-

\ GV

\ | 2

'{ © 243

| (DY 4

l 111.nmaﬁﬁgauﬁa§\mmuﬁtﬂas
Frr & T e @ -

———

(ny 11
|\ 1:2
() 1:3
o) 2:3
112, Frefrfra & ) frw R A dfe sl
stafer @ & sl Wt &

Ay X

(B) E
(C) M
(D) K
113.(100)*? « (0.001)"* - (0.0016)"*

-1
g . [3
!3 4[3} mm#_

(A) 1.6
(8) 1.0 _,}Q?-r_.l..zqo
b > D3

APP-1
110. If (2+43) 2 o(2-43) 0 } theD

1 1
~ 3+ — will be -
the value of =*%

(A) 1
© 243 )
() 4 A b

111. The ratio of the numl:r_er of sides of @

square to the number of edges of a

|

. \

cube Is Lo O

(A) 1:1 /1,;53 "‘ﬁ

(m/l/:; w1

C) 1:3 'ﬁ“}’ e 'p;{
z‘ qJ/ /1:\' 2 |

I 283 \

112. Which of the fallowing letters have both 1
horizontal and vertical lines of

]

symmetry?

@A W

B xpes

® & 241 61

© M |
e

(D) K

113. The value of (100)*? » (0.001)*° -

5
(0.0016)** x3° + {_\ ..

(A) 1.6

(8) 1.0

B B 1Y
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APP
114, Ia difw - 114, Simplify -
Lo (141 {14 15(14 14 2))] 1+ [1+1:{1+1+(141+2)}]
141041
(A) 1 w/ Hlilei!-.
B) 1/ .1.08
() 3
. (© 34 . @30
(D) s/8 . ) \q03
o (D) 5/8 . 7//
115. @e
1R R & wuRe ey 1y L15. Ifthe simple interest on 7 1 for 1 month
& :
S = i B - Is 1 paisa, then the rate percent per b
@ annum will be - ’\%{
(B) &% (A &% s
) S0 (B) &%
c o
D) 12% V
12%
116. T '
Tﬁmﬁmmﬁﬂﬁm 116. The greatest number which on
¥ 9X 5000 NI B, . rounding off to nearest thousands gives
5000, is - I
(A) 5001 (9/5001
(B) 5499 (B) 5499
(C) 5500 (C) 5500
D
(0) 5999 (D) 5999
117. 4z a, b, ¢, d, e dfa A oy wEwR 117. If a, b, c, d, e are five consecutive odd
&, o I sl & - numbers, then their average is-
(A) a+4 (A} a+4
@ o5
(C) S(a+b+c+d+e) (C) Slatbtcrd+e)
abcde abcde
©) — o © — . b'-g@.’ @_ 2
PR ;
SET-B Ry % [38] %x(j:(vf‘\ ; (2,{2 )
. g_ e Q, . -\K < . p‘}
2 ’\/l*\/J a ’V7 AV
\ 2 \ % ‘
B |
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15, e P o o . Y,
| e Y e B T A T R
1 &
| Ay 2006 W ® A wwE w wEntaa

UIEAEH
] (B) 2006 T AN WY W TN

' (©) T uremEd d FE - 2005

.if [ ©) wra e 1086

¥ 1 119.@131’;?:@&#?(%%131\13@?!%@
uwﬁa'-?ﬂuﬁﬂﬁiﬁslﬂﬁ%ﬂ#ﬂ?ﬁ
e SR g @ T 8

(A) Sfra e, dlwrenn, BE R
qtum
(B) i adflai, Frmrar-Ofserer aadl.
gan @ Il
| ¢c)  Ster g, aanfer, afaiar, @i
| # wEfirr
(D) wEwiferan, aRarsE, wTsT-af=er
qetedr

120. nﬁm#g@ﬁmés%vﬁqﬁrﬁﬂﬁﬂaﬂ?
AT U JoRerd) el &7

e
————

—

(A) feim
(8) fowg oF v
(C) wen ggky
(D) wrereaf
SET-B

— v

=

APP -1

118. Present NCERT text bookS on
Mathematics are written keeping In mind

the recommendations of ----

(A) Syllabus prescribed by CBSE In

2006

(B) Syllabus prescrlbed by State

Board In 2006
(C National curriculum Framewo

rk -

2005
(D) National Policy on Education -1986

119. Which of the following strategies can

assess learners'

attitude to

be used toO
interest In and

mathematics?
{A) K Ust, Portfolio, Paper Pencil

Test
(B) Oral Test; Paper Pencil Test Class

Participation
(C) Check list, Portfolio, Project Class

Participation

(D) POI‘th“G, Pane;

Project,
Pencil Test

120. Which of the following is not a

contributing factor responsible for

Mathematics anxiety ?

(A) Gender

Mure of Subject

(C) Examination System

(D) Curmriculum

[39]

P'T.ol
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Environmental Studies
121, "aem v gl g g - 121. ‘Fly Ash' Is the waste generated by:
(A) = T o & (A) Hydropower plant
(B) e wrR wRdrn @ \(Mermal power plant
(© yda ofdsmn (C) Geothermal plant _
(D) W (fz firem) 3 (D) Windmills i

12.%“%1%%%

122. Centre for Environment Education |Is !

TEHE) R @ located at

A) 7 feweh 3 (A) New Delh|

®) g § (B) Dehradgn

C) IEwzER

& # Whmedahad ;
(D) Exmar ki

(D) ' Hyderabad

123, 'mmmmwﬁwﬁtﬁmﬁqﬁ 123. Which ogne of the following

- - & i &> objectives js not required to teach
: Environmental Studies? o
(A) s & amfis Tt & iy (A) To develop sensitivity towards the
To— R T Physical and social environment
(B) R e <iasedt o Ry (B) A0 memorize basic scientific '
D F5 BT

concepts and principles

(C) mﬂmtﬁu-mﬁm’r
Wer &Rl

(C) To provide opportunities to explore

the environment

(DY AT v O SR
L) 3qaSH, 9RAT T &

- (D) To develop skills like observation,
g_,m_rg ent, prediction and
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[
(A) UNEP
(8) UNDP

{G)NSIEEP

(D) UNESCO
126. Enfee & Yy 39aNT & @R fHeme aren

s Teien werf & :
(4) 3mifar

(8) @ehEm

(c) aRam

(0)

27, rsm#mﬁ.ﬁmmﬁﬁ
Tl e & fore a7 a1 e
% gan?

(A) 3iftre)

B) q}'am-

) 3

'. ya?

APP-1

124. Which statement js wrong about
envimnment?

p of

ronment 15 the grou

(A) Envi
physlcal factors
B) fvironment always remain stable
comprises

(%) Environment

regional diversity
nt is control and

(Zonal diversity)

(D) Environme

autotroph based

125. Which International organisation is for

environment education?

te/wﬁp

(B) UNDP
(C) IEEP
(D) UNESCO

126. - Most poisonous byproduct during

plastic recycling is :

(A) Ammonia
(B) Cadmium
(C) Barium
(0)_Diokine.

127. In 1983, in Karnataka which movement
was started similar to 'Chi
Movement'? e
(A) Appiko
(B) Pandurang

(c\))m{

(D) Gubbi

P.T.0.
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128, ﬁnﬁ%mmwmmmmm

128.

APP -1

Among the following which one is not

T8 the objective of environmental
i education?

(A) wafawor i sy ey S &Rl (A) Create  awareness  for
(B) w¥a wd o s o sy environment

MR

(C) mﬁamn?lﬁé’lmmﬁmﬁmm
(D) Wuh?maauaaﬁaﬂm

vironment
Mdemtand

(B) Understanding interrelationship of
humans with rest of world
(C) Develop actual understanding of

environmental
129, dare ¢ 129, mgaec:::eonents
(A) 3 em (A) Producers
(B)  Fmvires (B) Consumers
(C)  vireprErd) (C) Herbivores
(D) 3mues

130. mﬁﬁairsmﬁnhmg,

Mcompc}ser

- 130. Size of clouds de ;
(A) Farg va e Oy (A) ' Height ang ::;iizlu-re
(B) ®ar & v 03 (B) Direction of wind
(C)  amafimway TH W) (C) Evaporation cycle
(D) m@ e W (D) Hygroscopic centre
131 P15 8 8 e eresifocs wqwor g tf | 131,

S (Hha®) & w0 # 5w R
ST 87

(A) TEDIET ST &1 I TR

Which of the following is used as

biological indicator of sulphur-dioxide
pollution?

(A) o (A) Bryophytes
(B) vlam@ (B) Algae
(C) =EWA™ (C) udomonas
©) T (ﬁhen
132. 5/ @ I= sfes aiedem @ 9 132. What does water's high biological
Wb A 2?2

oxygen demand (BOD) indicate?

(B) mifeare wqwor @ f
(C) WIS Fouor Bt FufRey
() & @

(A) High level of microbial pollution
@);an level of microbial pollution
(C) Absence of microbial pollution
(D) Wateris pure

BT

SET-B IELCT - p— —m
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133. 7= 3 A R evs @ em.) afinfe
TE TR T THA &2
(N Tew g W quRes 59 &
l FAUR W]
1 (B) e ¥ Wi Jofkefy
(C) men ¥ i Freremn
(D) eN | W B, WA S v
| gedtern T o
\ 134, ToieROn A & weeget feor Regrd
AT R -
(A)  uaieo el sl & Aftsits
st
(B) T HEOH & W9 H gafaro &
wam
©) i @ e ¥ s e

(DY TW o

| 135, faardt & vRivefdt 3 gafezor amags
!. oW deax en ¥ A oo 82
| (A) @emst J sray Rraor &
| (8) udfeoifast § aradla v
’- (C) nmmmﬁﬁasaamﬁﬁm
Rl & st
(D) IRrE ¥ & B T
136. TAROT FEAT I U e @ -

(A) mhmﬂtmmaﬁ%ﬁmﬂé
(B) mmmmﬁﬂ%ﬁzm#

(C) mfama‘?mmméimmﬂ
§t ey 2

(D) R T

e
i [43]

£33,

134.

135.

APP-1

Which of the following is considered a

motivated EVS class?
(A) Remedial work given by the
teacher
(B) Maximum attendance in the class
(C) Pin drop silence in the class
(l?) eéstioning, experimenting and
brain storming done in the class
One of the important pedagogical
principle of environmental studies is :
(A) Maximum use of environment
related books
Mof environment as learning
resource
(C) Maximum homework to
students
(D) All the above
In which condition students ean best
learn environmental education?
(A) Excellent teaching in classrooms
(B) Talking with environmentalists
\C)/E{D-OSing them to natural,
social & cultural environment
(D) None of the above

136. Environmental education help us to

realize :

(A) Environment conservation is

Govermment responsibility

(B) Environment conservatian is

(C) ong  with

nature's responsibility

Government,
environment conservation is our
responsibility as well

(D) Al of the above
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ironmental
in aspects of env
137.%3@:1:;&5@@?: 137. Ma P
education are :
(A) TafaRor Rren od ey (A) Environmental Education &

Conservation

®) I, v o aER Mgnition, Affect & Behaviour
j (C) Ethics and Culture

(D) Ecology and Development
138, q&gmmmﬁwmmﬁm 138.

Trees help in reducing the pollution of

B &) TR o £ % Y . e Our environment, Lakhs of trees are
; Planted by People in the month of July
Gt ¥ e Sy & TR )
5 DT & every year, The occasion is called -
A "
(A) = wRewor ey (A)  Forest Conservation Day
®)  Famigor g (B)  Plantation Mongh
;C) 97 TR (C) _~3an Mahotsay
(D) T=sits W (D) - Wildiife week
139. 3y asf @ pH & : 139. pH of Acid tain is :
(A). 5.6 % 31fere (A) Morethan 5.6
(B) 7.0¥ swamse ¥ 3t (B) Less than 7.0 ang morethan 5.6
(C) 5.6 Xy (Q) ~Less than 5.6
(D) 7.0 ¥ 3ftrs (D) ' More than 7.0
140. YRaaY @y mﬁq Sieita oy 2: 140. National aquatic animal of India js -
(A) Eﬁ' q-':ﬁ aren HIRHE (A) SaltwaterCrocodIle
(B) s fizay e (B) Olive Ridley Turtle
(CJ W ﬁ m an'ﬂ' gam_ _(\(.'._/Gangetlc Dﬁ‘phlﬂ
. D) Gangetic Gharial
(D) T v wfamE (P) Gangetic Gharia

141, International Blodiversity Da is
141. SFRisf st fafear Rew sy s & il

celebrated on :

(A) 22 ot 3 (A) 22 February

(8) 23sds® : (B) 22 March
(C) 22 Apri
© 22 May
S
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hich
? 142. Monal is a National Bird of W
142. Aret T5H 9 @ 'ﬂ@u el & : e
(A) waEd (A) Andia
() T (B) Bhutan
\ (C) U@ (C) Nepal
ahrEE (D) Pakistan
| i 143. Which  group of vertebrates
ll 143, B § D IF TRDa TE 3 affircan ' comprises the highest number of
l’ R wite T vt endangered species?
(A) Birds
\ L::} n-:qurh Mmmals
(C) w3 (C) Fishes
\ (D) ®I=EE (D) Reptiles
|'- 144, T T S0 & ¢ 144. Ginkgo is known as:
() Ffad sams Ming fossil
(B) - uef (B) Bird
(c)  wroft (C) Animal
(D) g (D) Reptile
145, wrél wredta fagel 7 # o, dmE & X 145. Which ancient Indian scholar claimed
@ Y-57c1 @1 Tbad A AP that termite mounds were indicators of
groundwater?
W (A) Kanad
} ) R (B) arga
, (LCJ) — (C) Varahamihira
T
146. @t fexor (w1 9R) % ey 3 R enfis 146 ::31 Bhashkarachar?ra
W (¥aT) B oy &2 + Which Indian religious sect has the
(A) 3 T traditions for saving Black Bucks?
(B) e sy (A)  Arya Samajists
(C) #¥3 o (Wols
(D) 97 wursr (C) Vaishnavas

(D) Shaivaites
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147, W30 A qudl v & e 3
favt ot a7 g W o2 A v §2

() @ i
(B) =

Q) ww ()
(D) == firm

Ias,mmmmﬁm‘mmmm
T st g
(A) e
(B) Tifgs
(C) wrH

(8) Efaw e ¥

(C) :1de (dB)

(D) g, #F
SET-B ol

APP -1

hawls In
The business of Pashmina S
147,

ild animal?
scale exploitation of which wild

(C) Rabbit

d?ﬂ/ Barking Deer

148. Which constitutes a major part of
Antarctica VEgetation?
(A) Shrubs
(B) Mosses

(C) Grasses

)
Mchens

149. Which of the following is an ‘endemic

Species of India?

@/Aéian elephant

(B) Lion Talled Macaque
I
(C) Whales

(D) Panda (
150. The 'thickness' of stratospheric Ozone

layer is measured in

(A) /Centimeter
(B) Dobson unit
(C) Decibel (dB)

(D) NTU

4
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